W Chemical Equations

Name Class Date
o Given the balanced equation: e Given the unbalanced equation:
2Na + S — Na,S _ Na+__ H,O0—_ H,+_ NaOH
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e When an equation is correctly balanced, o Which equation is correctly balanced?
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Given the balanced equation:
2Na + S — Na,S

YWiat 1s 10 total numper of moles

o

that fedted Trhreed,l | of|Na
cf ey comSama

A C 0,5 mole

B D 410 male

s
14

Date

Given the unbalanced equation:
_ Na+__ H,O0—_ H,+_ NaOH

When the ‘ation is correctly balanced
using the gmalfg€! WhqlE-TTTOEN

Copffici g cgeficient for HyO Is
A o
B 2 D4

When an equation is correctly balanced,
it must show conservation of

Which equation is correctly balanced?

A H,+0,—H,0
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Which type of reaction does this
equation represent?

A addition
B| Nydregenaiic
T TiZaic

D

D

CGiveri. alanged eguatior:
__Al+_CL30;-5 __AL(SO,);+__Cu

When the equation is balanced using the
smallest whole-number coefficients, what
is the coefficient of Al?

A1 C3
B 2 D 4

the same number o'f

A atoms

B its

C molecu

D fM0Igulgs

Which equation reprasents
double replacement reaction?

A 2Na + 2H,0 — 2NaOH + H,
B CaCO, — CaO + CO,

C LiOH + HCl — LiCl + H,0
D CH, + 20, — CO, + 2H,0
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